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Why does demand curve for a commodity
slope downward?
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What is income effect?

S R R T
Define opportunity cost.

mﬁvq‘famﬁﬁmw«ﬂmmaw
SRR 56 XA

Condition of a firm’s equilibrium under
perfect competition in the short run is
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What is economic cost?
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Define oligopoly.
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Explain the determinants of supply,
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What is perfect competition? Write
some of the features of perfect
competition. Diagrammatically explain
the output determination under perfect
competition.
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What is monopolistic compeﬁ.tiO.n?
Discuss the important cl}a}ractenst{cs
of monopolistic competition. Write
two differences between monopoly and
monopolistic competition.
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